### J. T. S. Vol. 5 (2011), pp.15-25 https://doi.org/10.56424/jts.v5i01.10445 The *L*-dual of a Generalized m-Kropina Space

## Gauree Shanker

Department of Mathematics and Statistics, Banasthali University, Banasthali, Rajasthan-304022, India E-mail: grshnkr2007@gmail.com (Received : 22 September, 2010)

## Abstract

In 1987, R. Miron introduced the concept of L-duality between Cartan spaces and Finsler spaces ([5]). The geometry of higher order Finsler spaces were sudied in ([1], [8]). The theory of higher order Lagrange and Hamilton spaces were discussed in ([6], [7], [9]). Some special problems concerning the L-duality and classes of Finsler spaces were studied in ([3], [13]). In ([2], [10], [11]) the *L*-duals of Randers, Kropina and Matsumoto space were introduced. The *L*-dual of an  $(\alpha, \beta)$  Finsler space was introduced in [12]. In this paper we give the *L*-dual of a generalized m-Kropina Space.

Keywords and Phrases : Generalized m-Kropina space, Finsler space, Cartan space, the duality between Finsler and Cartan spaces.2010 AMS Subject Classification : 53B40, 53C60.

#### 1. Introduction

Let  $F^n = (M, F)$  be an n-dimensional Finsler space. The fundamental function F(x, y) is called an  $(\alpha, \beta)$ -metric if F is homogeneous function of  $\alpha$  and  $\beta$  of degree one, where  $\alpha^2 = a(y, y) = a_{ij}y^iy^j, y = y^i\frac{\partial}{\partial x^i} \mid_x \in T_xM$  is Riemannian metric, and  $\beta = b_i(x)y^i$  is a one-form on  $\widetilde{T}M = TM \setminus \{0\}$ .

A Finsler space with fundamental function [4]:

$$F(x,y) = \alpha(x,y) + \beta(x,y)$$
(1.1)

is called a Randers space.

A Finsler space having the fundamental function:

$$F(x,y) = \frac{\alpha^2(x,y)}{\beta(x,y)}$$
(1.2)

is called a Kropina space.

A Finsler space with fundamental function:

$$F(x,y) = \frac{\alpha^2(x,y)}{\alpha(x,y) - \beta(x,y)}$$
(1.3)

is called a Matsumoto space.

The generalized  $(\alpha, \beta)$ -metric:

$$F = \frac{\alpha^{m+1}(x,y)}{\beta^m(x,y)}, \qquad (m \neq 0, -1)$$
(1.4)

is called a generalized m-Kropina metric and the Finsler space equipped with this metric is called a generalized m-Kropina space.

**Definition 1.** A Cartan space  $C^n$  is a pair (M, H) which consists of a real ndimensional  $C^{\infty}$ -manifold M and a Hamiltonian function  $H: T^x M \setminus \{0\} \longrightarrow R$ , where  $(T^x M, \pi^x, M)$  is the cotangent bundle of M such that H(x, p) has the properties as follows [2]:

- 1. It is two homogeneous with respect to  $p_i(i, j, k, ..., = 1, ..., n)$ .
- 2. The tensor field  $g^{ij}(x,p) = \frac{1}{2} \frac{\partial^2 H}{\partial p_i \partial p_j}$  is nondegenerate.

Let  $C^n = (M, K)$  be an n-dimensional Cartan space having the fundamental function K(x, p). We also consider Cartan spaces having the metric functions of the following forms:

$$K(x,p) = \sqrt{a^{ij}(x) p_i p_j} + b^i(x) p_i$$
(1.5)

or

$$K(x,p) = \frac{a^{ij}(x) p_i p_j}{b^i(x) p_i}$$
(1.6)

with  $a_{ij}a^{jk} = \delta_i^k$  and we will again call these spaces Randers and, respectively, Kropina spaces on the cotangent bundle  $T^*M$ .

**Definition 2.** A regular Lagrangian (Hamiltonian) on a domain  $D \subset TM$  $(D^* \subset T^*M)$  is a real smooth function  $L : D \mapsto \mathbb{R}$   $(H : D^* \mapsto \mathbb{R})$  such that the matrix with entries

 $g_{ab}(x,y) := \partial_a \partial_b L(x,y) \qquad \left(g^{*ab}(x,p) := \partial^{\cdot a} \partial^{\cdot b} H(x,p)\right) \text{ is everywhere nondegenerate on } \mathcal{D}(\mathcal{D}^*)[2].$ 

A Lagrange (Hamilton) manifold is a pair (M, L) ((M, H)), where M is a smooth manifold and L(H) is regular Lagrangian(Hamiltonian) on  $D(D^*)$ .

**Example 3. (1.)** Every Finsler space  $F^n = (M, F(x, y))$  is a Lagrange manifold with  $L = \frac{1}{2}F^2$ . Every Cartan space  $C^n = (M, \overline{F}(x, p))$  is a Hamilton manifold with  $H = \frac{1}{2}\overline{F}^2$ . (Here  $\overline{F}$  is positively 1-homogeneous in  $p_i$  and the tensor  $\overline{g}^{ab} = \frac{1}{2}\partial^{\cdot a}\partial^{\cdot b}\overline{F}^2$  is nondegenerate).

(2.) (M, L) and (M, H) with

$$L(x,y) = \frac{1}{2}a_{ij}(x)y^iy^j + b_i(x)y^i + c(x) \text{ and } H(x,p) = \frac{1}{2}\overline{a}^{ij}(x)p_ip_j + \overline{b}^i(x)p_i + \overline{c}(x)$$

are Lagrange and Hamilton manifolds respectively. (Here  $a_{ij}(x), \overline{a}^{ij}(x)$  are the fundamental tensors of Riemannian manifold,  $b_i$  are components of covector field,  $\overline{b}^i$  are the components of a vector field, c and  $\overline{c}$  are smooth functions on M).

Let L(x, y) be a regular Lagrangian on a domain  $D \subset TM$  and let H(x, p) be a regular Hamiltonian on a domain  $D^* \subset T^*M$ . As we know [10] if L is a differentiable map, we can consider the fiber derivative of L, locally given by diffeomorphism between the open set  $U \subset D$  and  $U^* \subset D^*$ :

$$\varphi(x,y) = \left(x^{i}, \dot{\partial}_{\alpha}L(x,y)\right)$$
(1.7)

which is called the Legendre transformation. We can define, in this case, the function  $H: U^* \longmapsto \mathbb{R}$ :

$$H(x,p) = p_a y^a - L(x,y),$$
 (1.8)

where  $y = (y^{\alpha})$  is the solution of the equations:

$$p_a = \partial_\alpha L\left(x, y\right). \tag{1.9}$$

In the same manner, the fiber derivative is given locally by:

$$\varphi(x,p) = \left(x^{i}, \overset{\cdot}{\partial}^{a} H(x,p)\right), \qquad (1.10)$$

 $\varphi$  is a diffeomorphism between same open sets  $U^* \subset D^*$  and  $U \subset D$  and we can consider the function  $L: U \longmapsto R:$ 

$$L(x,y) = p_a y^a - H(x,p), \qquad (1.11)$$

Gauree Shanker

where  $p = (p_a)$  is the solution of the equations:

$$y^{a} = \partial^{a} H(x, p). \qquad (1.12)$$

The Hamiltonian given by (1.8) is called the Legendre transformation of the Lagrangian L and the Lagrangian given by (1.11) is called the Legendre transformation of the Hamiltonian H.

If (M, K) is a Cartan space, then (M, H) is a Hamiltonian Manifold [10], where  $H(x, p) = \frac{1}{2}K^2(x, p)$  is 2-homogeneous on a domain of  $T^*M$ . So, we get the following transformation of H on U:

$$L(x,y) = p_a y^a - H(x,p) = H(x,p)$$
(1.13)

## **1.1 Theorem** [10]

The scalar field given by (1.13) is a positively 2-homogeneous regular Lagrangian on U.

Therefore, we get Finsler metric F of U, so that

$$L(x,y) = \frac{1}{2}F^2$$
 (1.14)

Thus, for the Cartan space (M, K) we always can locally associate a Finsler space (M, F) which will be called the L-dual of a Cartan space  $(M, C_{|U^*})$  vice-versa, we can associate, locally, a Cartan space to every Finsler space which will be called the L-dual of a Finsler space  $(M, C_{|U})$ .

## 2. The $(\alpha, \beta)$ Finsler- $(\alpha^*, \beta^*)$ Cartan L-duality

**2.1** Theorem ([2], [10])

Let (M, F) be a Randers space and  $b = (a_{ij}b^ib^j)^{\frac{1}{2}}$  the Riemannian length of  $b_i$ . Then:

1. If  $b^2 = 1$ , the L-dual of (M, F) is a Kropina space on  $T^*M$  with:

$$H(x,p) = \frac{1}{2} \left(\frac{a^{ij}p_i p_j}{2b^i p_i}\right)^2 \tag{2.1}$$

2. If  $b^2 \neq 1$ , the L-dual of (M, F) is a Randers space on  $T^*M$  with:

$$H(x,p) = \frac{1}{2} \left( \sqrt{\overline{a}^{ij} p_i p_j} \pm \overline{b}^i p_i \right)^2, \qquad (2.2)$$

where

$$\overline{a}^{ij} = \frac{1}{1-b^2}a^{ij} + \frac{1}{(1-b^2)^2}b^i b^j; \qquad \overline{b}^i = \frac{1}{1-b^2}b^i$$

(in (2.2) '-' corresponds to  $b^2 \prec 1$  and '+' corresponds to  $b^2 \succ 1$ ).

# **2.2 Theorem** ([2], [10])

The L-dual of a Kropoina space is a Randera space on  $T^*M$  with the Hamiltonian:

$$H(x,p) = \frac{1}{2} \left( \sqrt{\overline{a}^{ij} p_i p_j} \pm \overline{b}^i p_i \right)^2, \qquad (2.3)$$

where

$$\overline{a}^{ij} = \frac{b^2}{4} a^{ij}; \qquad \overline{b}^i = \frac{1}{2} b^i$$

in (2.3) '–' corresponds to  $\beta \prec 0$  and '+' corresponds to  $\beta \succ 0$  ).

In [2]  $\alpha^* = (a^{ij}(x) p_i p_j)^{\frac{1}{2}}, \beta^* = b^i(x) p_i$ , where  $a^{ij}(x)$  are the reciprocal components of  $a_{ij}$  and  $b^i(x)$  are the components of the vector field on M,  $b^i(x) = a^{ij}(x) b_j(x)$ . We can consider the metric functions  $K = \alpha^* + \beta^*$  (Randers metric on  $T^*M$ ) or  $K = \frac{\alpha^{*2}}{\beta^*}$  (Kropina metric on  $T^*M$ ) defined on a domain  $D^* \subset T^*M$ . So, we can easily rewrite the previous theorems:

### 2.3 Theorem

Let (M, F) be a Randers space and  $b = (a_{ij}b^ib^j)^{\frac{1}{2}}$  the Riemannian length of  $b_i$ . Then:

1. If  $b^2 = 1$ , the L-dual of (M, F) is a Kropina space on  $T^*M$  with:

$$H(x,p) = \frac{1}{2} \left(\frac{\alpha^{*2}}{2\beta^*}\right)^2 \tag{2.4}$$

2. If  $b^2 \neq 1$ , the L-dual of (M, F) is a Randers space on  $T^*M$  with:

$$H(x,p) = \frac{1}{2} (\alpha^* \pm \beta^*)^2, \qquad (2.5)$$

with  $\alpha^* = \left(\overline{a}^{ij}(x) p_i p_j\right)^{\frac{1}{2}}, \qquad \beta^* = \overline{b}^i(x) p_i,$ 

Gauree Shanker

where

$$\overline{a}^{ij} = \frac{1}{1-b^2}a^{ij} + \frac{1}{(1-b^2)^2}b^i b^j; \qquad \overline{b}^i = \frac{1}{1-b^2}b^i$$

(in (2.5) '–' corresponds to  $b^2 \prec 1$  and '+' corresponds to  $b^2 \succ 1$ ).

# 2.4 Theorem

The L-dual of a Kropoina space is a Randers space on  $T^*M$  with the Hamiltonian:

$$H(x,p) = \frac{1}{2} \left( \alpha^* \pm \beta^* \right)^2, \qquad (2.6)$$

where

$$\overline{a}^{ij} = \frac{b^2}{4}a^{ij}; \qquad \overline{b}^i = \frac{1}{2}b^i$$

(in (2.6) '-' corresponds to  $\beta \prec 0$  and '+' corresponds to  $\beta \succ 0$ ).

#### 3. The L-dual of a Generalized m-Kropina Space

In this case we have  $F = \alpha^{m+1}(x, y) . \beta^{-m}(x, y) \ (m \neq 0, -1)$ . We put  $\alpha^2 = a_{ij}y^iy^j = y_iy^i, \beta = b_iy^i, \beta^* = b^ip_i, p^i = a^{ij}p_j, \alpha^{*2} = p_ip^i = a^{ij}p_ip_j.$ 

We have

$$p_i = \frac{1}{2} \overset{\cdot}{\partial}_i F^2 = \frac{1}{2} \overset{\cdot}{\partial}_i \left( \frac{\alpha^{m+1}(x,y)}{\beta^m(x,y)} \right)^2 = F \overset{\cdot}{\partial}_i \left( \frac{\alpha^{m+1}}{\beta^m} \right)$$

which on simplification gives

$$p_i = F\left[\frac{(m+1)F}{\alpha^2}y_i - \frac{mF}{\beta}b_i\right]$$
(3.1)

Contracting (3.1) by  $p^i$  and  $b^i$  respectively, we get

$$\alpha^{*2} = F\left[\frac{(m+1)F^3}{\alpha^2} - \frac{mF}{\beta}\beta^*\right]$$
(3.2)

and

$$\beta^* = F\left[\frac{(m+1)F}{\alpha^2}\beta - \frac{mF}{\beta}b^2\right].$$
(3.3)

In [13], for a Finsler  $(\alpha, \beta)$ -metric F on a manifold M, there is a positive function  $\phi = \phi(s)$  on  $(-b_0; b_0)$  with  $\phi(0) = 1$  and  $F = \alpha \phi(s), s = \frac{\beta}{\alpha}$ , where  $\alpha^2 = a_{ij} y^i y^j = y_i y^i$ , and  $\beta = b_i y^i$  with  $\|\beta\|_x \prec b_0, \forall x \in M$  and  $\phi$  satisfies  $\phi(s) - s\phi'(s) + (b^2 - s^2) \phi''(s) \succ 0, (|s| \le b_0)$ .

20

A generalized m-Kropina metric is a special  $(\alpha, \beta)$ -metric with  $\phi = \frac{1}{s^m}$ . Using Shen's [14] notation  $s = \frac{\beta}{\alpha}$ , (3.2) and (3.3) become:

$$\alpha^{*2} = F\left[\frac{(m+1)F}{s^{2m}} - \frac{m}{s^{m+1}}\beta^*\right]$$
(3.4)

and

$$\beta^* = F\left[\frac{(m+1)}{s^{m-1}} - \frac{m}{s^{m+1}}b^2\right].$$
(3.5)

Putting  $s^m = t$ , so that  $s = t^{\frac{1}{m}}$  in (3.4) and (3.5), we get

$$\alpha^{*2} = \frac{(m+1)F^2}{t^2} - \frac{mF}{t^{\frac{m+1}{m}}}\beta^*$$
(3.6)

and

$$\beta^* = \frac{(m+1)F}{t^{\frac{m-1}{m}}} - \frac{mF}{t^{\frac{m+1}{m}}}b^2.$$
(3.7)

From (3.7), we get

$$\beta^* t^2 = F\left[ (m+1) t^{\frac{m+1}{m}} - m t^{\frac{m-1}{m}} b^2 \right].$$
(3.8)

For  $b^2 = 1$ , from (3.8), we get

$$F = \frac{\beta^* t}{(m+1)t^{\frac{1}{m}} - mt^{-\frac{1}{m}}}.$$
(3.9)

From (3.6) and (3.9), we get

$$\alpha^{*2} (m+1)^2 t^{\frac{4}{m}} - \left\{ 2m (m+1) \alpha^{*2} - (m^2 - 1) \beta^{*2} \right\} t^{\frac{2}{m}} + m^2 \left( \alpha^{*2} - \beta^{*2} \right) = 0$$
(3.10)

or

$$\alpha^{*2} (m+1)^2 s^4 - \left\{ 2m (m+1) \alpha^{*2} - (m^2 - 1) \beta^{*2} \right\} s^2 + m^2 \left( \alpha^{*2} - \beta^{*2} \right) = 0.$$
(3.11)

Solving (3.11), we get

$$s = \sqrt{\frac{c \pm \beta^* \sqrt{d}}{e}},\tag{3.12}$$

where

$$c = 2m\alpha^{*2} - (m-1)\beta^{*2}, d = 4m\alpha^{*2} - (m-1)^2\beta^{*2}, e = 2(m+1)\alpha^{*2}.$$

Using (3.12) in (3.9), we get

$$F = \frac{\beta^* \left(\frac{c \pm \beta^* \sqrt{d}}{e}\right)^{\frac{m+1}{2}}}{(m+1) \left(\frac{c \pm \beta^* \sqrt{d}}{e}\right) - m}.$$
(3.13)

Hence  $H(x,p) = \frac{1}{2}F^2$  is given by

$$H(x,p) = \frac{1}{2} \frac{\beta^{*2} \left(\frac{c \pm \beta^* \sqrt{d}}{e}\right)^{m+1}}{\left\{(m+1) \left(\frac{c \pm \beta^* \sqrt{d}}{e}\right) - m\right\}^2}.$$
(3.14)

Putting  $\beta^* = b^i p_i, \alpha^* = (a^{ij}(x) p_i p_j)^{\frac{1}{2}}$  in (3.14), we get

$$H(x,p) = \frac{1}{2} \frac{\left(b^{i}p_{i}\right)^{2} \left(\frac{c\pm(b^{i}p_{i})\sqrt{d}}{e}\right)^{m+1}}{\left\{(m+1)\left(\frac{c\pm(b^{i}p_{i})\sqrt{d}}{e}\right) - m\right\}^{2}}.$$
(3.15)

Next, we find H(x,p) for  $b^2 \neq 1$ . From (3.8), we have

$$F = \frac{\beta^* t}{(m+1) t^{\frac{1}{m}} - mt^{-\frac{1}{m}} b^2}.$$
(3.16)

Using (3.16) in (3.6), we get

$$\alpha^{*2} (m+1)^2 t^{\frac{4}{m}} - \left\{ 2m (m+1) b^2 \alpha^{*2} - (m^2 - 1) \beta^{*2} \right\} t^{\frac{2}{m}} + m^2 b^2 \left( \alpha^{*2} b^2 + \beta^{*2} \right) = 0$$
(3.17)

or

$$\alpha^{*2} (m+1)^2 s^4 - \left\{ 2m (m+1) b^2 \alpha^{*2} - (m^2 - 1) \beta^{*2} \right\} s^2 + m^2 b^2 \left( \alpha^{*2} b^2 + \beta^{*2} \right) = 0.$$
(3.18)

Solving (3.18), we get

$$s = \sqrt{\frac{f \pm \beta^* \sqrt{g}}{e}},\tag{3.19}$$

where

$$f = 2mb^2 \alpha^{*2} - (m-1)\beta^{*2},$$
  

$$g = 4mb^2 \alpha^{*2} + (m-1)^2\beta^{*2},$$
  

$$e = 2(m+1)\alpha^{*2}.$$

22

Using (3.19) in (3.16), we get

$$F = \frac{\beta^* \left(\frac{f \pm \beta^* \sqrt{g}}{e}\right)^{\frac{m+1}{2}}}{(m+1) \left(\frac{f \pm \beta^* \sqrt{g}}{e}\right) - mb^2}.$$
(3.20)

Hence  $H(x,p) = \frac{1}{2}F^2$  is given by

$$H(x,p) = \frac{1}{2} \frac{\beta^{*2} \left(\frac{f \pm \beta^* \sqrt{g}}{e}\right)^{m+1}}{\left\{(m+1) \left(\frac{f \pm \beta^* \sqrt{g}}{e}\right) - mb^2\right\}^2}.$$
 (3.21)

Putting  $\beta^* = b^i p_i, \alpha^* = \left(a^{ij}(x) p_i p_j\right)^{\frac{1}{2}}$  in (3.21), we get

$$H(x,p) = \frac{1}{2} \frac{\left(b^{i} p_{i}\right)^{2} \left(\frac{f \pm (b^{i} p_{i}) \sqrt{g}}{e}\right)^{m+1}}{\left\{(m+1) \left(\frac{f \pm (b^{i} p_{i}) \sqrt{g}}{e}\right) - mb^{2}\right\}^{2}}.$$
(3.22)

Hence we have the following:

## 3.1 Theorem

Let (M, F) be a generalized m-Kropina space and  $b = (a_{ij}b^ib^j)^{\frac{1}{2}}$  the Riemannian length of  $b_i$ . Then:

1. If  $b^2 = 1$ , the L-dual of (M, F) is a space on  $T^*M$  having the fundamental function:

$$H(x,p) = \frac{1}{2} \frac{\beta^{*2} \left(\frac{c \pm \beta^* \sqrt{d}}{e}\right)^{m+1}}{\left\{(m+1) \left(\frac{c \pm \beta^* \sqrt{d}}{e}\right) - m\right\}^2},$$

where

$$c = 2m\alpha^{*2} - (m-1)\beta^{*2},$$
  

$$d = 4m\alpha^{*2} - (m-1)^2\beta^{*2},$$
  

$$e = 2(m+1)\alpha^{*2}.$$

2. If  $b^2 \neq 1$ , the L-dual of (M, F) is a space on  $T^*M$  having the fundamental function:

$$H(x,p) = \frac{1}{2} \frac{\beta^{*2} \left(\frac{f \pm \beta^* \sqrt{g}}{e}\right)^{m+1}}{\left\{(m+1) \left(\frac{f \pm \beta^* \sqrt{g}}{e}\right) - mb^2\right\}^2},$$

where

$$\begin{split} f &= 2mb^2\alpha^{*2} - (m-1)\,\beta^{*2},\\ g &= 4mb^2\alpha^{*2} + (m-1)^2\,\beta^{*2},\\ e &= 2\,(m+1)\,\alpha^{*2}. \end{split}$$

Using  $\beta^* = b^i p_i$ ,  $\alpha^* = (a^{ij}(x) p_{ii} p_j)^{\frac{1}{2}}$ , the above theorem can be rewritten as:

# 3.2 Theorem

Let (M, F) be a generalized m-Kropina space and  $b = (a_{ij}b^ib^j)^{\frac{1}{2}}$  the Riemannian length of  $b_i$ . Then:

1. If  $b^2 = 1$ , the L-dual of (M, F) is a space on  $T^*M$  having the fundamental function:

$$H(x,p) = \frac{1}{2} \frac{(b^{i}p_{i})^{2} \left(\frac{c \pm (b^{i}p_{i})\sqrt{d}}{e}\right)^{m+1}}{\left\{(m+1)\left(\frac{c \pm (b^{i}p_{i})\sqrt{d}}{e}\right) - m\right\}^{2}},$$

where

$$\begin{aligned} c &= 2m\alpha^{*2} - (m-1)\,\beta^{*2},\\ d &= 4m\alpha^{*2} - (m-1)^2\,\beta^{*2},\\ e &= 2\,(m+1)\,\alpha^{*2}. \end{aligned}$$

2. If  $b^2 \neq 1$ , the L-dual of (M, F) is a space on  $T^*M$  having the fundamental function:

$$H\left(x,p\right) = \frac{1}{2} \frac{\left(b^{i}p_{i}\right)^{2} \left(\frac{f \pm \left(b^{i}p_{i}\right)\sqrt{g}}{e}\right)^{m+1}}{\left\{\left(m+1\right) \left(\frac{f \pm \left(b^{i}p_{i}\right)\sqrt{g}}{e}\right) - mb^{2}\right\}^{2}},$$

where

$$f = 2mb^2 \alpha^{*2} - (m-1) \beta^{*2},$$
  

$$g = 4mb^2 \alpha^{*2} + (m-1)^2 \beta^{*2},$$
  

$$e = 2 (m+1) \alpha^{*2}.$$

#### References

- Antonelli, P. L., Ingarden, R. S. and Matsumoto, M. : The Theory of Sprays and Finsler Spaces with Applications in Physics and Biology, Kluwer Acad. Publ., FTPH 58,1993.
- 2. Hrimiuc, D. and Shimada, H. : On the L-duality between Lagrange and Hamilton manifolds, Nonlinear World 3 (1996), 613-641.
- Hrimiuc, D. and Shimada, H. : On some special problems concerning the Lduality between Finsler and Cartan spaces, Tensor N. S. 58 (1997), 48-61.
- 4. Matsumoto, M. : Foundations of Finsler Geometry and Special Finsler Spaces, Kaisheisha Press, Otsu, 1986.
- Miron, R.: Cartan Spaces in a new point of view by considering them as duals of Finsler Spaces, Tensor N. S. 46 (1987), 330-334.
- Miron, R. : The Geometry of Higher-Order Lagrange Spaces Applications to Mechanics and Physics, Kluwer Acad. Publ, FTPH 82, 1997.
- Miron, R. : The Geometry of Higher-Order Hamilton Spaces: Applications to Hamiltonian Mechanics, Kluwer Acad. Publ, FTPH 132, 2003.
- Miron, R. : The Geometry of Higher-Order Finsler Spaces, Hadronic Press., Inc., USA, 1998.
- 9. Miron, R. and Anastasiei, M. : The Geometry of Lagrange Spaces : Theory and Applications, Kluwer Acad. Publ. FTPH 59, 1994.
- Miron, R., Hrimiuc, D., Shimada, H. and Sabau, S. V. : The Geometry of Hamilton and Lagrange Spaces, Kluwer Acad. Publ. FTPH 118, 2001.
- Masca, I. M., Sabau, S. V. and Shimada, H. : The L-dual of a Matsumoto space, Publ. Math. Debrecen Tomus 72, Fasc. 1-2, (2008), 227-242.
- Masca, I. M., Sabau, S. V. and Shimada, H. : The L-dual of an (α, β) Finsler space of order two, Balkan Journal of Geometry and Its Applications 12, 1(2007), 85-99.
- 13. Sabau, S. V. and Shimada, H. : Classes of Finsler spaces with  $(\alpha, \beta)$  –metrics, Rep. on Mathematical Physics 47, 1 (2001), 41-48.
- 14. Shen, Z. : On Landsberg ( $\alpha, \beta$ )-metrics, http://www.math.iupiu.edu/~ zshen/Research/papers, 2006.